y=axX:+ (bX:)+cC

y =
16,346.324 cC= -66132.797
X1 =
y =
a= 7.213 b= 108.26 c= -332.692
X1 = Xo =
y =
a-= 8.209 c= 2337.098
X1 =
y =
a-= -169.717 b= 225936.707 ¢ =-995226.198
X1 = Xo = )
y =
a= 194778.445 C = -1448056.573
X1 =
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x1 x1 X2 x1 x1 X2 x1
6.460 438.356 20.590 836.418 13.205 5.127 9.435
5.902 301.667 17.105 509.215 0.000 4.801 8.342
5.457 163.791 23.923 716.714 100.000 4.760 8.172
6.176 354.071 18.632 636.416 61.651 4.895 8.799
5.768 287.439 14.763 683.057 0.000 4.677 8.490
6.056 338.568 24.033 545.350 19.054 5.016 8.445
5.760 249.207 20.624 556.431 48.106 4.719 8.307
6.117 373.375 14.749 723.826 12.976 4.925 8.965
5.769 207.724 17.784 541.624 0.000 4.727 8.442
5.783 237.904 19.643 752.257 100.000 4.788 8.597

39,464 5,058 9,203 160,910 389,678

30,343 3,695 6,517 89,496 176,785

23,069 3,439 8,221 63,261 143,673

34,822 4,238 7,561 100,271 265,799

28,153 3,339 7,944 61,480 205,612

32,861 4,711 6,814 134,839 196,847

28,022 3,698 6,905 62,805 169,968

33,858 3,957 8,279 115,310 298,132

28,169 3,091 6,783 72,777 196,263

28,398 3,510 8,512 69,587 226,454




381.3 2,700.4 2,455 177.2 164 143,720 150,637
96.0 680.5 404 48.0 49 21,019 20,526
29.5 176.4 84 14.8 17 5,356 5,087

228.1 1,663.8 1,094 109.0 105 62,104 57,709
81.4 613.7 228 40.4 32 15,215 14,239

161.3 845.5 742 78.2 87 42,010 37,032
54.5 336.5 204 26.4 28 10,597 12,703

236.2 1,944.6 1,200 115.6 111 72,049 86,967
57.3 496.5 197 28.5 23 11,073 10,270
39.5 274.4 144 17.8 20 9,078 7,983




